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E Section - A
m_ 1.  Attemptfall parts. All parts cdrry equal marks. Wit
.m answer H:!,,_. part in short (10x2=20)
m a)  Cofvert{153.513)  to af octal numbe:
W b} Wrfie the advantages _,.:,M.,.F. cnde aver the e
ic by number sequence.
M ¢} Give the general procedure for conse

m multilevel AND-OR diagram o an o

(] diagram

__r.u d) D t'half subtracton

m €)  Specify the purpose of valid bit indicato: v prioron

e encoder.

m fi Give the function table of SR latch,

n gl Express the characteristic equation for the {1

“ flop.
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NEC - 304
Compare mealy and Moore model of finite state
machine

The contents of a four bit register are initially 1011.
The register is shifted six times to the right with
serial input being 101111. What are the contents of
1he register afier each shift?

Write the steps that must be taken for the purpose
of transferring a new word to be stored into
memaory

Section - B

Attempt any five questions from this section

(5= 10=50)
Simplifv the Boolean function.
Flwxy.z)=Y(13,7,1L15)
Which has the don’t care conditions

diwx,v.z)=3(0,2,5)

b1 Implement the following Boolean function with

NAND gates
Fi ﬂ.r:uM_.__iu.u.L.Mi

IDesign a full subtractor circuit with three inputs x,y
B_ and two outputs Diff and B__. The circuit
subtracts x-y-B_, where B__ is the input borrow, B
< the cutput borrow and Diff is the difference.

swaw e e diagram of a twio to four line decoder
using “OR mhhm g_v...

017 2006060 2)

F(x,x.%,4,.x5)=%(0,1,2,89,15,17,21,24,25,27,31)
4.  Design a conphinational circuit that converts a BCD code
10 Excess-3 tode.
5. EE?EEEE%E&GEE»
PAL.

W(4,B,C,D)=3(21213)
X(4.B,C,D)=3(7.89,10,11,12,13,14,15)
¥(A4.B.C.D)= 3 (0.2.3,4,5.6.7.8.10,11.15)
Z(A4.B.C.D)= 3 (1,2,8,12,13)
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